Quantity

1
1
1
1
2
1
1
1
2
2
3
1
1
1
1
3
1
2
1
1
1

Parts List
15-025
Clutch & Brake Pedal Kit

Part Number
15-0261
15-0264
15-0265
15-0276
15-0267
15-0270
15-0271
1250x120D0OMx4
63-092
64-105
65-111
65-014
65-131
65-009
65-130
65-132
65-025
65-024
625x058CMx12
60-326-01
60-326-02

Description

Brake pedal

Cross shaft support with tab
Cross shaft support with tube
Alum. Clevis brake link

Pedal pad

Clutch pedal

Clutch cross shaft

Tube - 1-1/4" x .120 DOM - 4" long
Threaded tube end 5/16 x 5/8
5/16" RHM rod end

5/16" RHM jam nut

Bolt - 5/16" x 1-1/4" G8 fine
Nylock nut - 5/16" fine

Bolt - 1/4" x 2" G8 fine

Nylock nut - 1/4" fine

Nylock nut - 3/8" fine

Bolt - 3/8" x 1-1/4" G8 fine

Bolt - 3/8" x 1" G8 fine

Tube - 5/8" x .058CM x 12" long
Dual master cylinder mount bracket
Dual master cylinder mount gusset



